-

s PO —
- ————— R —— .

i _NEW SCHEME _ -

Reg.No. LI [ [ TTTTTT]

Sixth Semester B.E. Degree Examination, January/February 20056

Electrical & Electronics Engineering
Electrical Drawing and CAD

Tirrs2: 3 birs) (Mo barks ; 100

MNote: 1. Answer any FOUR quastions from Parf - A
and any ONE quasiion frorm Parf - B,
2. Assurme any missing data.,

PART - A

Drdiw the single line diogram of a hydro electic stofion having the following details:
b AC generators 3¢, & nos of 12MV A 11KV, 50z ¥
i} Transformers : 6 nos, 15 MV A, 11/110kV, A/ Y
i) Bus detalls : Double bus for 110KV
single bus for 11KV
n Qubgoing fransmission lnes. Two of 110kV
Wy  Stofion ausllicry fronsfarmmers
Two nos. 0.T5MV A, 3¢, 50Hz, 11KV /400 4 Y

show the corect pesitions of GOS8, CT'S PT'S lightening amestors, CB'S afo,
(20 Merks)

Drow the developed winding dicgram of ¢ de maching with the fc:ulh:ru;"ng ciota

humber of armature caolls = 20
Murnber of poles =4

The winding ks fo be progressive duplex lap. Show the corect posttions of the poles,
commutator segments cnd brushes and alse the direction of rotatian, (20 Marks)

Draw the developad winding diogram of a three phase mochine having the
following detalls :

Mumbsar of polas = &

Mo, of slots =36

Type of winding = single layer conceniric type

Phose saquence =R YB

show all the details on the diogram. {20 Marks)
Crow 0 neat proportionate longifudinal cross section of ona limt> of a three phase

0il cooled power transtarmer with thea following detalls showing the HY and LV
windings.

Cong = 2 stepped,
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Diameter of the circumscribing circle = 22.6¢m
Diameter of the LV winding

in two concentric layers = 25¢m (inside)
Qutside diameter of LV winding - =28.1em
Inside diameter of HV winding = 32em
Qutside diameter of HV winding = 36.8cm
Height of LV winding =412 cm
Height of HV winding =40 cm

The LV winding Is 12 sections with insulation between them and the HV winding is
in 09 sections with insulation between them. .

Show the complete detdils of the coll and insulation, Duct if any between LV and
HV coils by assuming any missing datfa. {20 Marks}

5. Draw 1o a suitable scale the half sectional end elevation and longitudinai gleva-
tion (without section) of the armature of a 100kW dc generator with the main
dimensions given below. 3

No. of poles =6

External diameter of armature = 41.5¢cm

Inside diameter of armature =21 cm

No. of slofs =36

Dimension of slots = 3.5cm x 1.2em
Length of the armature = 62cm

The armature stampings are mounted over a spider having 8 legs.
The slots are having provision fo brace the conductor with a fibre wedge.
The spider is directly mounted on a shaft of diometer of 9cm with a shaft key.

The over hang of the winding in each side is 6¢m. (20 Marks)
6. Draw the top haif sectional elevation and end view of a squirrel cage rotor with

the following details. ;

Quter diameter _ 1 155bmm

Shaft diameter : 32mm

End ring : Inner diameter : 130mm

(2 nos.) : Quter diameter : 155mm

: Thickness L Tmm

Rotor conductors : 36 nos. each of diameter 6mm. There are four fan biades
of thickness 1.5mm on each end fixed on to a coliar of diameter 83mm and
thickness 5mm. Length of the rofor including the end rings = 128mm. (20 Marks)

PART - B

7. Explain the different co-ordinate systems used for specifyin'g 2D points in auto CAD
using an example of obtaining .a rectangle. _ {20 Marks)
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8. Write the prompt résponse columns to draw the plan of g tfransformer iimb shown
below to a sultable scale. Cfrcumscrlblng radlus 25¢m, (20 Marks)
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